ETE AR 5 R =
20214F 08H 10H
sk JlemR BRIt FEFF 1K TSR0 = T 1 126401
&% IR L faR St
JIIE T T ENFE G BRI 5 2R E 2HOBEICLY, WO LBVWELET,
20214F 08H 10H  ( XA K= WER )
HIEH R 0.4 b

FTEHEG| DT U wvi L] AL RGPS iG]

| it fa A mo W A T

i Kg 400. 0 Kg Kg

. 5 e EsEAtiss (1)
B4 R AEH %@J% £ — o — -

W OIEH Mo h 350 Kg 1,285

¥ & U Kg

S X Kg

T H DU Kg

»n oo B Kg

S AoF Kg

xOFE b Kg

FIEE <A Kg

/AN SR Kg

W ob L Kg

5 Kg

7= | Kg

mom S Kg

wom s E Kg

mo v e Kg

MREALTES Kg

weos Kg

B+ & U K

Tz Kg

TSAE 58

AN 5




20214F 08H 10H
Gase) NIRTHEEERA=E #T P M7 BT = T F 126401
S ST e

UG 7 7 B TS 5 R BI5E 5 2 SR/ 2 HOBUEIZ LY, RO LBV HMEL LT,

20214F 08H 10H  ( XA K= WER )
HI7EH R 30.9 hv
FTEHEG| DT O wveE ] AL A FRxEGI
| it fa A mo W e T
i 4,900.0 Kg b, 200.0 Keg 20, 800. 0 Kg
. 5 o Ezesks (1)
B4 EmnEs | 9k B — e = 5 &
W DL H Kg
F b U Lo N 120 Kg 972 864 432
X X Kg
T 5OV S N 20 Kg 6, 804 6, 480 5, 400
noo B T+ ¥ 70 Kg 1, 296 540 216
= A F Kg
X F b Kg
FIEE <A Kg
AN ST T 3 10 Kg 756
Wb L ST 12 20 Kg 3, 780 3, 240 279
BN U) SN 810 Kg 2,117 1, 987 1,188
7= z b v & 750 Kg 2, 430 2,322 1,944
mwo ST b W E 610 Kg 1,998 1,134 842
m s x I = — 20 Kg 3,715
N SN/ N A 470 Kg 15,120 6, 804 756
MREALTES T T AN 40 Kg 15, 984 15, 660
Box Kg
B+ & U EI 3 20 58 86
Iz b W B 20 Kg 23,976 205
TS AE % T 10 58 346
R T8 AN 1, 050 B 724 77 59




(5E5e) I T

T 5 58 T 5 2 55 4R 01 35

S B U AL

5 25

B

1EOHEIZEY

£ (084 11H% )

20214F 08H 10H
AT )T X SENT =T H 12675 H#11
A%k IR FLFERR NS A

ROLEBYEELET,

BV 5RO HE
i £ H5E ¥ EE & TR PEH
» o b
AN g 0
AFLDF1E
ih 4 E7e T EE & EE e
AN H 0
FEXRFEG | D J5 ik
ih 4 ENFE T EE & EE e
»oiE b
¥ &» U 100 Ju Iy
SR VAV 50 H & W
N oo B
FEBREKRBER) & D 4, 800
R ST 50 T T AL
mEm s E 50 I o —
T 5 DU 50 AN =
BENNTEDS
R IKEEM) & DL 2, 150
WX 100 IV = —
T Wz 50 i W E
EESE 50 b HE
BT IAE
IR EEM Z DAt 18, 800
/N =t 26, 300
i it 26, 300




